A man left a bequest of 1000 Dirhams to the beneficiary. His estate consists of wealth at hand and debts ¢

Question 2381) - A man left a bequest of 1000 Dirhams to the beneficiary. His estate consists of
wealth at hand and debts owing to the deceased. How will the beneficiary be paid out?

A: If a third of the wealth at hand covers the 1000, it should be handed to him. If not, he will be
given a third of the cash at hand and every time the debts are collected, a third will be given to
him until he

gathers his 1000.

~ al-Quduri ~




